1. Write a two-column proof.

Given: Ej bisects ZCBE.

Prove: ZABD = ZFBD Stabement Lecson
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The diagram shows how glass lenses change the direction of light rays
passing through a telescope. What is the value of x, the angle formed by the
crossed outermost light rays through the focal point?

Eyepiece Lens

Objective Lens Focal Point
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If two angles are supplementary to If... mz1 + m«£2 = 180° and
cangruent-angles(or to the same @80“ Mmél=mly

angle), then they are congruent.
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PROOF: SEE EXAMPLE 3. Then... 21 = £3



Congruent Complements Theorem

If two angles are complementary to If... mz1 + mz2 =90° and

sengegentangles (or to the same ms3 + me2 =90°

angle), then they are congruent.

PROOF: SEE EXAMPLE 3 TRY IT. Then... 21 = £3



THEOREM 1-4 Cight Avgle Theoren

All right angles are congruenD If...
———<
- A < B

PROOF: SEE EXERCISE 9. Then... zA = «B
THEOREM 1-5
If two angles are congruent and If... 21 = 22and mz1 + mz2 = 180°
supplementary, then each is a
right angle.
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PROOF: SEE EXERCISE 11. Then... 21 and £2 are right angles



Linear Pair Posulate

The sum of the measures of a linear pair is 180.

If... Z1 and £2 form a linear pair.

A

Then... m£1 + m£2 = 180.




2. a. Find the value of x and the measure of each labeled angle.

(6x — 45)° X(4x + 5)° (8x — 205 + 377



Find the value of the varibale.
b)

A\ 0

(2x +3)°

(4x - 101)°

32°

(9x + 4y

Y




3. Solve for the variable using what you know about angle relationships. Show Work.

a. b.
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G;'ié—-zur (5x — 501
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Byrao = 5x-50 Gx =YX+l
X =10 AXY=1{
X=35" X=F
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Write a two-column proof.
Given: m£1 = m£2, m£1 = 105

Prove: mZ3 =75 51’:«4:.,\:”-1-
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Giwven: LK = NM ,KJ =MJ
Prove: EEI\TJ
Proof:



GIVEN: B is the midpoint of AC.
C'is the midpoint of BD .

PROVE: A4B=CD Sledement

ee Son

D15 s midpt of AC
C s mthfs ol Y38

&)A(b: C
RC=-cOD

3)AC= At il

CD=RCt+eD

‘ﬂ AC= RCHRC
Bz RC

S)AC=rD
G) A 4RL = @licn

1) AB=O
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